S1 3rd Level Homework
Length and Area
[image: ]
Section A (Remember NO workings allowed!)
1. Convert to mm
a) 23cm	b)   4m		c)   6.2cm	d)   13.6m	e)   0.8m
2. Convert to cm
a) 14m	b)   6.5m	c)   73mm	d)   8mm	e)   2km
3. Convert to metres
a) 13km	b)   6.73km	c)   926cm	d)   750mm
Section B (Remember ALL working must now be shown!)
4.	Calculate the perimeter273cm
5.2m

	(give your answer in metres)


28cm
18cm
32cm

5.            Calculate the area	
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6.      I Newton, carpet fitter, has to fit wood flooring and skirting in the kitchen shown
3.6m
2.4m
1m
1.4m
5.1m
0.6m
Breakfast bar


	







a) Calculate the area of flooring and length of skirting required.
b) Flooring costs £42.50/m2 and skirting costs £7.25/m.
Calculate the cost of materials
7.      A plastics manufacturer must produce a rectangular piece of plastic with a metal       edge which must have an area of exactly 48cm2.  What is the least amount of edging that they can use?


Section C (Remember NO calculators allowed)
8.   Name the angles shown, using 3 letters
a)                                       b) E
D
B
A
A
B
C

C





9.    Find 75% of £324
10.   4000- 751
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